4dp5E SRS EXORBAR
- = 7 -H T 7] H%
A T HIC5: 237
9% + 8lx 32x° — 108x> — 239x — 105
X427 + 5+ 4 9% — 4637 + 40x
x3—4x2+6x—9 x3+3x2—5x+25
X — 8 —4x— 45 X — 20x° + 128x — 256
X —3x> —45x+ 175 4 6x> —9x— 14
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&H:_ alics:
9% + 8lx 32x° — 108x> — 239x — 105
Ox(x + 9) (8x + 7)(x — 5)(dx + 3)
X422 +5c+ 4 9% — 4637 + 40x

(c+ DO +x+ 4) x(x — 4)(9x — 10)
¥ =4 +6x—9 X + 3% —5x+25
(x—3)(0% —x+3) (x+ 5)(0% — 2x + 5)

X — 8 —4x— 45 X = 20x% + 128x — 256
(x— 92 +x+ 5) (x— 4)(x— 8)(x— 8)

X —3x> —45x+ 175 X+ 6x> —9x— 14
x—=5x+7Dx—5) (x+ DEx+7Dx—2)
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